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Revised Key Answers

Nov-2013 NTSE GMAT Key answers

Q. No. Key Q. No. Key Q. No. Key Q. No. Key Q. No. Key
1 4 11 4 21 2 31 2 41 3
2 2 12 3 22 4 32 4 42 1
3 3 13 1 23 3 33 3 43 4
4 1 14 2 24 1 34 4 44 2
5 2 15 4 25 4 35 2 45 3
6 3 16 3 26 3 36 3 46 1
7 4 17 2 27 1 37 1 47 4
8 1 18 lor3 28 2 38 3 48 2
9 3 19 4 29 3 39 2 49 1
10 2 20 1 30 4 40 4 50 e

Nov-2013 NTSE Language Comprehensive Test ( LCT ) Key answers

Q. No. Key Q. No. Key Q. No. Key Q. No. Key Q. No. Key
1 2 9 4 17 3 25 1 33 4
2 3 10 2 18 1 26 2 34 3
3 1 11 1 19 4 27 4 35 2
4 4 12 3 20 2 28 3 36 4
5 3 13 4 21 4 29 4 37 1
6 2 14 4 22 1 30 3 38 2
7 3 15 2 23 3 31 1 39 1
8 2 16 3 24 2 32 2 40 2

* one marks awarded to all the candidates
Nov-2013 NTSE SAT Key answers

Q. No. Key Q. No. Key Q. No. Key Q. No. Key Q. No. Key
1 4 19 1 37 2 55 4 73 4
2 1 20 2 38 3 56 3 74 3
3 2 21 3 39 2 57 2 75 2
4 3 22 3 40 3 58 3 76 4
5 2 23 3 41 1 59 1 77 3
6 & 24 3 42 2 60 4 78 1
7 4 25 2 43 3 61 4 79 4
8 2 26 2 44 2 62 3 80 3
9 2 27 3 45 3 63 1 81 3
10 1 28 1 46 2 64 3 82 1
11 1 29 1 47 3 65 4 83 3
12 4 30 4 48 1 66 3 84 1
13 2 31 3 49 2 67 4 85 2
14 4 32 2 50 2 68 4 86 2
15 2 33 2 51 1 69 3 87 3
16 3 34 4 52 3 70 4 88 2
17 2 35 2 53 1 71 2 89 1
18 3 36 1 54 3 72 1 a0 4

* one marks awarded to all the candidates




Objections and Clarifications for Nov-2013 NTSE Examination

Sl no| Paper |Q.No. Objection Clarification
1. Which of the following rays will cause more damage to human body ?
1) X- 2)G 3) Bet 4) Alph
) r?ys ) Gamma rays ) Pf arays 4) Alpha rays . The question was asked in the context of
NTSE 1. Which of the following rays will cause more damage to human body When ingested ? . o
1 1 rays causing damage within the human
SAT 1) X-rays 2) Gammarays 3)Beta rays 4) Alpha rays .
L body but not out side the body.
The question is not properly framed and
Answer is 2) Gamma rays, butin Key ans it is given as 4) Alpha rays
18) (19*5) - (13*7) = Square root of 4 =2 or 4 dividedby2 =2 Both the answers are correct,
5 NTSE 18 (18*6) - (26*4) = Square root of 4 =2 or 4 divided by2 =2 Therefore, one mark is awarded for those
GMAT (14*8) - (32*3) = Square root of 16 =4 or 16 divided by 2 =8 who have marked
Therefore two answer for this question i.e, option 1)8 and option 3)4 option 1) 8 or option 3) 4
50) One evening you will go to market with your friend. There you will notice a person looking
NTSE suspicious and acting ion a strange manner. At this situation what might your appropriate decision ?
3 GMAT 50 |1) you will just alert your friend 2) You will leave the matket and come out One mark is awarded to all the students
3) you will call the police immediately 4) You will neglect that person
The question is vague
4) Which one of the following material has more refractive index ? . )
NTSE , ) In place of clay, the diamond is accepted
4 4 |1) Air 2) Water 3) Diamond 4) Clay
SAT . L . L as the Key answer.
The answer 3) Diamond ( refractive index =2.419 ) and in Key it is given 4) Clay (1.50r 1.6)
32) A mother who gave birth to a child in hospital complaints that her child is interchanged with other
child. The technique used to find her child is DNA Finger Print Technology and
NTSE 1) Germplasm Hybridisation Technology 2) Finger Print Technology Finger Print Technology are one and
5 SAT 32 |3) Recombinant DNA technology 4) Genetic Engineering same and Recombinant DNA technology
The answer should be DNA Finger Print Technology but it is given as is entirely different from the correct
only Finger Print Technology answer
55) India’s highest television tower is located at
1) Arvi  2)Doon  3)Pune  4)Pitampura Given Answer: (4) Pitampura
NTSE Correct Answer: Rameswaram TV Tower (323 Metres) The recommended text book supplied to
6 SAT 55 the students has mentioned Pitampura

There are other TV towers such as Fazilka TV Tower, Punjab (305 M) , Mumbai Television Tower (300
M), Jaisalmer TV Tower, Rajasthan (300 M), Samatra TV Tower, Gujarat (300M). Whereas, Pitampura
TV Tower located in Delhi is only 235 metres

being highest Television tower.




